Trig Section 3-3 — Graphing y = k + Asin(Bx+ C)and y = k+ A cos(Bx + C)
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** In order to figure out where one cycle starts and ends, which will also tell you the
period, solve the following 2 equations:

Bx+C=0 and Bx+C=2rn

X = starting point of one cycle x = ending point of one cycle
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5) Graph y, = 4sinx— 3cosx onyour calculator. Find an-equation in the form
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y, = Asin(Bx + C) that has the same graph. Find A and B exactly and C to 3 de
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6) Graph y = 3sin TTATosx on your calculator. Find an equation in the form
d B exactly and C to 3 decimal

y, = Asin(Bx + C) that has the same graph. Find A an
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